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The dizgram shows a skerch of the curve ¥ = 4 — x° and the Iine v = 3x. The curve and the
line mtersect at the point A in the firay quadrant and the curve intersects the positive x-axis at
the point B.

(i) Showing vour working, find the coordinates of 4 and the coordinates of B.
(#) TFind the area of the shaded region.
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Tt - r = 2
The diagram shows a sketch of the curve y=35x—4 — 3~
The curve intersects the x-axis at the points A and B. The poznt C has coordinates (5, D).

y |

(i) Find the x-coordinafes of the poinss A and B. {81
(i) Find the total area of the shaded regions. 7
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The diagram shows z sketeh of the curve y = 6 + 4x ~ x° and the line ¥=a+ 2 'I”m point of
intersection of the crrve and the line in the first quadrant 1s denoted by A.

() Fmnd the coardinates of A.

{(ii Find the azea of the shaded region. [10]
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The diagram shows a skeich of the curve y=5+ L df_ —x* and the fine y =23, The curve and
the line intersect at the points A and 3.
(i) Showing your working, find the x-coordinates of A 2nd B. _
{11) Find the area of the shaded region. [iq
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